

### 3(種分66)

$f(a-x) = -f(a+x)$  のとき,  $\int_{a-m}^{a+m} f(x) dx = 0$  を証明せよ。 [基本問題]

$$a-x=t \text{ とおくと } x: a-m \rightarrow a, t: m \rightarrow 0, -dx=dt$$

$$\int_{a-m}^a f(x) dx = -\int_m^0 f(a-t) dt = \int_0^m f(a-t) dt = \int_0^m f(a-x) dx \dots \textcircled{1}$$

$$x-a=t \text{ とおくと } x: a \rightarrow a+m, t: 0 \rightarrow m$$

$$\int_a^{a+m} f(x) dx = \int_0^m f(a+t) dt = \int_0^m f(a+x) dx \dots \textcircled{2}$$

①, ②の両式の左辺は

$$\text{左辺} = \int_{a-m}^a f(x) dx + \int_a^{a+m} f(x) dx$$

$$= \int_0^m f(a-x) dx + \int_0^m f(a+x) dx$$

$$f(a-x) = -f(a+x) \text{ とおくと}$$

$$= -\int_0^m f(a+x) dx + \int_0^m f(a+x) dx$$

$$= 0$$

と終了